Klapptest — Assoziativgesetz 1

Falte das Blatt entlang der Linie, vertausche, setze Klammern und berechne
anschliefend das Ergebnis.

1) 33 + 36 + 27 + 44 + 56
= (33 + 27) + 36 + (44 + 56)

= 60 + 36 + 100 = 196

2) 127 + 112 + 59 + 33 + 48
= (127 + 33) + (112 + 48) + 59

= 60 + 36 + 100 = 196

3) 396 + 497 + 404 + 503 + 11

(396 + 404) + (497 + 503) + 11

= 800 + 1000 + 11 = 1811

4) 212 + 375 + 128 + 45 + 95
= (212 + 128) + (375 + 45) + 95

= = = 340 + 420 + 95 = 855

5) 178 + 58 + 232 + 222 + 712
= (178 + 222) + (58 + 232) + 712

= 400 + 280 + 712 = 1392

Ergebnis:

__MSP.
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